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3/18/2021
A carrier signal C(t) =25 sin(2.512 x 101%) is amplitude modulated by a message signal
m(t) =5 sin (1.57 % 10%) and transmitted through an antenna. What will be the bandwidth

of the modulated signal T

Options :
86435111611, 20 MHz

86435111612, 8 GHz

86435111613, =01 GHz

86435111614, 19875 MHz

Question Number : 1 Question Id : 8643513871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol ames® = C(t) =25 sin(2.512 % 1010) =1, 51 fFEt Hem 9= m(t) =5 sin(1.57 x 108t)

BRI S Higfeq 2, ot uwe g Ufte fofen 0 ¥ | Aefea foe i Sve-<rer == 2 ?
Options :
86435111611, 20 MHz

86435111612, 8 GHz

86435111613, =01 GHz

86435111614, 1987.5 MHz

Question Number : 2 Question Id : 8643513872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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3/18/2021
Two cells of emf 2E and E with internal resistance r; and r, respectively are connected in
series to an external resistor R (see figure). The value of R, at which the potential difference

across the terminals of the first cell becomes zero is

2E E
¥ [y
| "
AR
R
Options :
r
T
86435111615. =
rTl f I'E
86435111616. ~
r, T,
86435111617. -
ry +1,
86435111618. B

Question Number : 2 Question Id : 8643513872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
<1 Jo f5M%F emf 2E 3R E 991 AR Yfods AW r, 3R r, ¥ {5 am gfads R 9 gafq &
(=1 SfEu) R 1 98 A9 #4 © fore faw vt e & =fHael & 4 favara v & o &7

2B E
II ||
II II
AR
R
Options :
5
86435111615. =
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N |
R
86435111616, -
T T
86435111617. @ 2
T, rz
86435111618.

Question Number : 3 Question Id : 8643513873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A sound wave of frequency 245 Hz travels with the speed of 300 ms ~! along the positive
x-axis. Each point of the wave moves to and fro through a total distance of 6 cm. What will
be the mathematical expression of this travelling wave ?

Options :

86435111619, Y(x, )=0.03 [ sin 5.1x— (0.2 < 10%)t ]

Y(x, )=0.03 [ sin 5.1x— (15 x 10%)t |
86435111620.

B B _ .
86435111621. Y(x, )=0.06 [ sin 5.1x— (1.5 x10°)t ]

T : ’
86435111622, 1 & §=0.06 | sin 0.8x— (0.5x107)t |

Question Number : 3 Question Id : 8643513873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

245 Hz G Fi 15 &G T SAeTF x-34 F AN 300 m s~ 1 F1 91 § 75 L @ €1 39
T 1 Weleh FU 6 cm FHi Fel U I S 1§ | 59 W T o e nfords =i 791 @m 2
Options :

96435111619, Y(x, )=0.03 [ sin 5.1x— (0.2 x 103)t ]

Y(x, )=0.03 [ sin 5.1x— (15 x10%)t |
86435111620.

gt S _ 5
86435111621. Y(x, )=0.06 [ sin 5.1x— (1.5 x 10°)t ]
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, £)=0.06 [ si : 3
86435111622, Y& 9=0.06 [ sin 0.8x— (0.5 10%)t ]

Question Number : 4 Question Id : 8643513874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A geostationary satellite is orbiting around an arbitary planet ‘P’ at a height of 11R above
the surface of ‘P, R being the radius of ‘P’". The time period of another satellite in hours at a

height of 2R from the surface of ‘I is . ‘'P" has the time period of 24 hours.
Options :
86435111623, 2

86435111624 6N2

86435111625.

6
N
86435111626, ¥ <=

Question Number : 4 Question Id : 8643513874 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

H15 JEfieh e Rt W8 72 P F U= U 1R #3416, TR T P 1 g, W & ue P
# UfEFH @ UE P F Y= Y 2R F FE W, Fel H Ug P H ufGh w9 9w, ot o
IYUE F T H AGGRA GNP STEGHA 24 T E

Options :

86435111623, °

86435111624, 6V2

86435111625.

6
NG
86435111626. V2

Question Number : 5 Question Id : 8643513875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

5/90
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Correct Marks : 4 Wrong Marks : 1

Two identical blocks A and B each of mass m resting on the smooth horizontal floor are
connected by a light spring of natural length L and spring constant K. A third block C of
mass m moving with a speed v along the line joining A and B collides with A. The maximum

cnmpression in the sp ring 15

=

C A
m — m |y v Yy | m

Options :

I mi
o=
36435111627, ' 2K
m
Dl —
2K
86435111628.

86435111620, ¥ K

86435111630.

Question Number : 5 Question Id : 8643513875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 TEHH 2F A 3R B, T T F1 =M m €, WHfaE =T L SR FEE e Ko
T HEET § T S T o e o forr = oo § €1 =g e e C, Tormem g=mme
m, A 3B = e Al Y ¥ S = o B T T T A Ty F e A
e Sfad e ¥

g

C B
m — m LY v Yy Yy o m

Options :
[m
ey
86435111627. V2K
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86435111628.

s6435111620. ¥ K

86435111630.

Question Number : 6 Question Id : 8643513876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two particles A and B of equal masses are suspended from two massless springs of spring,
constants K; and K, respectively. If the maximum velocities during oscillations are equal,

the ratio of the amplitude of A and B is

Options :
=
Ko
8643511163 1.
IIlﬁ
| s
86435111632. YKz
e
K‘1
86435111633.
||'ﬁ

K
86435111634. L

Question Number : 6 Question Id : 8643513876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

THM FAHE F 2 F A 3 B <1 5HAAEA HAEl, T e s we K $RK, § 9
fFreifea €1 afs <em Fa T9a Afyway 57 T9E €, @1 A SR B F SIEm F1 HId ©

Options :
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=
K‘E
86435111631,
K4
86435111632. K2
Ky
Kq
86435111633,
Ko
Ky
86435111634,

Question Number : 7 Question Id : 8643513877 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11
List - I

(a) Phase difference between current and voltage (1)

in a purely resistive AC circuit

(b) Phase difference between current and voltage in (i)

a pure inductive AC circuit

(c) Phase difference between current and voltage in  (iii)

a pure capacitive AC circuit

(d) Phase difference between current and voltage in  (iv)

an LCR series circuit

List - 11

m
— ; current leads voltage

2

ZETO

i1
—: current lags vnltage

2

i I[KC KLW

R J

Choose the most appropriate answer from the options given below :

Options :

86435111635, (@ (1) (B)(iid), (0)-(iv), (d)-(ii)

86435111636, (@ (i), (b)-(iv), (c)(iii), (d)-(3)
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86435111637, @ (i), (b)-(iii), (c)-(1), (d)-(iv)

26435111638, (@)-(i1), (b)-(iii), (c)-(iv), (d)-(i)

Question Number : 7 Question Id : 8643513877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - [ 1 |l - 11 H T7em 1|

(b)

(d)

e - 1 e - 11
et 35 wfaiereTs AC wiay # smr @R (i) %;Hma*ﬁmﬁml%

Fieedl & 99 FAr
fordl 31 TR AC Wiy § wmT 3R Sieedl & (i) =

fdt g =nftar AC aftay § umy 3R Seed (i) %;Hmﬁhﬁmﬁqﬁr%
A= e

micinaiariaerds o G e
FHe

e fau o fase § Herd 3fEd I 9F
Options :
s6435111635. @r() (B)(iid), (c)-(iv), (d)~(i)

26435111636, @), (b)-(iv), (c)-(iit), (d)-(i)

86435111637, @), (b)-(iii), (c)-(), (d)-(iv)

26435111638, @)(11), (b)-(iii), (c)-(iv), (d)~(1)

Question Number : 8 Question Id : 8643513878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

9/90
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Correct Marks : 4 Wrong Marks : 1

What happens to the inductive reactance and the current in a purely inductive circuit if the
frequency is halved ?

Options :

86435111639, nductive reactance will be doubled and current will be halved.

26435111640, Inductive reactance will be halved and current will be doubled.

36435111641 Both, inductive reactance and current will be halved.

86435111642, Both, ﬁ‘lduc’rit‘lg reactance and current will be doubled.

Question Number : 8 Question Id : 8643513878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe A et F= <t e O TR v IR aftay 1 R gfaem i SR o ern 2
Options :
86435111639. EIW?F?HHTIT il 2

YT Wioea ST SR SRy 2 A S S |
86435111640.

§6435111641, TCIOEF FIGETG ST ey ST el 2 S

Sefors e e e R 2 T A S
86435111642. o

Question Number : 9 Question Id : 8643513879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A sphere of mass 2 kg and radius 0.5 m is rolling with an initial speed of 1 ms I goes up an
inclined plane which makes an angle of 30" with the horizontal plane, without slipping.

How L:mg will the sphere take to return to the starting point A?

A 30

Options :

86435111643, 060

86435111644, 027 S

86435111645, 022 S

86435111646, 080 S

Question Number : 9 Question Id : 8643513879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 ms = WW@WW,WERgﬁTWD.SmWﬁW,WW%
¥ 30° F1 I 5AW FFH G T9Te F SR 9% Fell A1 1 A AR fag A W § 7w
T e e 2

A 30°

Options :

86435111643, 00 s

86435111644, 027 S

86435111645, 022 S

11/90
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86435111646, 050

Question Number : 10 Question Id : 8643513880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A rubber ball is released from a height of 5 m above the floor. It bounces back repeatedly,

81
always rising to 100 of the height through which it falls. Find the average speed of the ball.

(Take g =10 ms—?2)
Options :

1
86435111647, 2.0 ms

1
86435111648, 2-20 ms

1
86435111649, 20 ms

1
86435111650, -0 ms

Question Number : 10 Question Id : 8643513880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ot TS &1 715 F1 9 9 5 m T 91 9 o 31 T 8| 98 9R-9R 38l § 311 & 91 98 foa

[ 31 m = [ m
et & smeh ﬁﬁmm%l 59 i i SAEd =1 T Hife |

(g=10 ms 2 Efifsm)

Options :

1
86435111647, 20 ms

1
86435111648, 2-o0 ms

1
86435111649, 3-0 ms

1
86435111650, >0 mS

12/90



3/18/2021

Question Number : 11 Question Id : 8643513881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The velocity of a particle is v=v, + gt FtZ. Its position is x=0 at t=0; then its displacement
after time (t=1) is :

Options :

vy % +E
86435111651 2

1 2 :

86435111652, Lo 1281 3F

F

I’{} | & - —

2 ' 3

86435111653. £ s

86435111654, 08 TE

Question Number : 11 Question Id : 8643513881 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol FMH T o=0,+ gt + FET| T80 F=fd t=0 Rx =072 94 t=17F TN g8HI fore=r

i

IR
Options :
Uy % +F
86435111651. &
1 > ]
86435111652, Y0t 28+ 3F
F
I’{} | &  —
2 3
86435111653. ¥

86435111654, 0B TEF

Question Number : 12 Question Id : 8643513882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

13/90
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A hairpf_n like shape as shown in figure is made b}-‘ h«emﬁlf_ng a Long current carrying wire.
What is the magnitude of a magnetic field at point P which lies on the centre of the

semicircle 7
.-"'F
Sor
P 31

I

e
Ca

.

Options :

86435111655, <71

86435111656, 27T

I

PO 2+ )
86435111657, 7T

ol

s ],
86435111658, * "¢

Question Number : 12 Question Id : 8643513882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ol o=l gRrETel aR #1 f99 § femn aR, 9w | o e 9 9 1 ongfa § Hre ) e
fag P, Sl 31499 F R W T, TEARE S 1 IR 491 E0 2

I

L
rad

M

Options :

86435111655, <7F

86435111656.

14/90



3/18/2021

I

20”2 4 m)
86435111657, 7T
pol

FV“’ r)
86435111658, *7F

Question Number : 13 Question Id : 8643513883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The atomic hydrogen emits a line spectrum consisting of various series. Which series of
hydrogen atomic spectra is lying in the visible region ?
Options :

86435111659, L aschen series

86435111660. Balmer series

86435111661, -yman series

86435111662. Brackett series

Question Number : 13 Question Id : 8643513883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A= BITEIeH IS TIE TIagH Seafd Hidl ¢ foad fafe=1 St 21 essied F afvas vy
F ¥ o § wEE T 9 S g ?

Options :

86435111659, AT AV

86435111660, % AU

86435111661, e A

86435111662.

Question Number : 14 Question Id : 8643513884 Question Type : MCQ Option Shuffling : Yes Is
15/90
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two identical photocathodes receive the light of frequencies f; and f, respectively. If the

velocities of the photo-electrons coming out are vy and v, respectively, then

Options :

86435111663,
?h
vy — 03 = —|f1 —fal
86435111664 m
1
2h 2
 + Uy = [—{fl ' ..Jrz]}
86435111665. m
2 2 2h
v +v3 =—|[fi + /2]
86435111666. .

Question Number : 14 Question Id : 8643513884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
&1 et RS £, SR £, i e Ten F ¥ AR T St 3 A B e
= 97 A (e -ﬁ?tﬂz%, LU

Options :

86435111663.

86435111664 i

2h
 +03 =|—(fi +f2)
86435111665. m

2 2
vy +0v3 =—|[fi + /]
86435111666. .

16/90
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Question Number : 15 Question Id : 8643513885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following will be the output of the given circuit ?

[0
L
—D-

A

B
Options :

86435111667, \ND Gate

86435111668, INAND Gate

86435111669, “OR Gate

86435111670, VOR Gate

Question Number : 15 Question Id : 8643513885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
feu T ftay 1 Friq fFrafafaa § & <6 @ @m 2
A \
- D
v

B
Options :
86435111667, AIND T2

86435111668, VAND T2

86435111669. XOR T2

86435111670. Sl lnt

Question Number : 16 Question Id : 8643513886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

17/90
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The four arms of a Wheatstone hridge have resistances as shown in the igure. A galva_tmmeter

of 15 () resistance is connected across BD. Calculate the current through the gahra_tmmeter

when a potential difference of 10 V is maintained across AC.

Options :

86435111671, =34 _A

86435111672, 244 mA

86435111673, 87 BA

86435111674, +87 mA

Question Number : 16 Question Id : 8643513886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot e g it 9/ gonedi % gfairs e ¥ 29 san &1 BD ¥ i 92 15 O wfade =1 e
Treamrdter §afsa 21 | AC 3 faii W 10 V 1 fasarae wfua faran s 2 o fearies 9 yanfea
T Uiahferd Sifeu |

Options :

18/90
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86435111671, =14 1A

86435111672, 244 mA

86435111673, 187 BA

86435111674, 187 mA

Question Number : 17 Question Id : 8643513887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A block of mass 1 kg attached to a spring is made to oscillate with an initial amplitude of
12cm. After 2 minutes the amplitude decreases to 6 cm. Determine the value of the damping
constant for this motion. ( take In 2=10.693 )

Options :
86435111675, 110* 10% kg s~

3 2 1
86435111676, 007 <107 kg s

i 3 1
86435111677, 2/ * 107" kg s

3.3 %102 1
86435111678, 2 <107 kg s

Question Number : 17 Question Id : 8643513887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ot FHAT | HATST 1 kg F99M % TR T2 1 12 cm F ARMENF @M F <o 0@ T 2
2 fo2 % v ™ 92 6 cm T8 W1 €1 59 A & foru, stase feris =1 99 fauifa Fife
(In 2=0.693 Ff0)
Options :

" ] 1
86435111675, 107107 kg s

] 2 1
86435111676, 09 <107 kg s

i 3 1
86435111677, >/ * 107" kg's

19/90
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2 1
86435111678, o <107 kg 8

Question Number : 18 Question Id : 8643513888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If one mole of the polyatomic gas is having two vibrational modes and §3 is the ratio of molar

specific heats for polyatomic gas [[:’: = C—P} then the value of 3 is :
W V r
Options :
1.25
86435111679.

1.2
86435111680.

86435111681, 132

86435111682, 102

Question Number : 18 Question Id : 8643513888 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ifg fordlt FETAE 19 F UF A F FI9 H 9 faurd € a9 agwEns T F fou Aer fafre
g s
amﬁmmﬁwmlﬁ=Ely%ﬁﬁmnﬁﬁm:
\, V)
Options :
1.25

86435111679

1.2
86435111680.

86435111681. 1.35

86435111682, 102

Question Number : 19 Question Id : 8643513889 Question Type : MCQ Option Shuffling : Yes Is

20/90
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one is the correct option for the two different thz:-rmod}-'na_mic processes ?

M
T +——— adiabatic
P
isothermal
(a)
v—>
A
T «——isothermal
\l"-
adiabatic
(c)
—

Options :
(a) only
86435111683. -

86435111634, (©) and (c)

86435111685, () and (a)

86435111686, (@) and (d)

Question Number : 19 Question Id : 8643513889 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

/v( isothermal

adiabatic

.
r

] —

by

T—>

isothe rmal /

// :Ei:ia batic

W

T—

21/90
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21 fafv=1 samas aiEFaE & fau [ @ F 9% 98 & ?

P P
geard
(@) vd \ (b) .
v—> T—>
M H-q?n-tﬁ- "
TN
TG 4
(c) \< ) / S
i— =
Options :
86435111683, 79 (a)
s6a3s111684, (©) TE)
s6435111685. R (@)
86435111686, \©) 4 (d)

Question Number : 20 Question Id : 8643513890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
An object is located at 2 km beneath the surface of the water. If the fractional compression

v is 1.36%, the ratio of hydraulic stress to the corresponding hydraulic strain will be

[ Given : density of water is 1000 kgm ~% and g =9.8 ms ™~ 2]
Options :
: 7 %
86435111687, 1:96>¢10” Nm

22/90
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5 i ]
86435111688, 144>107 Nm

'j' 'j‘ ) W 9 2
86435111689, 220107 Nm

2

\ {_]
86435111690, 1.44>10° Nm

Question Number : 20 Question Id : 8643513890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L = =, [ Fad L il"" - O =
H1E fuve 5t % Y= % 2 km = oo 71 afe fy=rers direa TFETHFTI.%%%,HTEH?HW
Wfaael 3R Hd gatford fagia &1 ST 2
(fe=n & &1d =1 Fea= 1000 kgm™ A9 g =9.8 ms—2)

Options :
86435111687, 1:96%107 Nm ~2

w107 >
86435111688, 1-44>10¥ Nm

2.26 % 10° 2
86435111689, 220107 Nm

-2

5 e
86435111690, 1-44x10° Nm

Physics Section B

Section Id : 864351260
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351260
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643513891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/90
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A 2 pF capacitor C, is first charged to a potential difference of 10 V using a battery. Then the

battery is removed and the capacitor is connected to an uncharged capacitor C, of 8 uF. The

charge in C 5 on equilibrium conditionis ___ pC. (Round off to the Nearest Integer)
S1 52
2 uF 8k
10v] Tc, T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643513891 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 uF F foElt gt C, F1 fofelt =128t 5 weet 10 V favamm % safem faen T 55 o
Tt Fl g2 39 UG F1 8 uF F el 51 smmafvm dafe ¢, & Safsa fean w1 = =+
faffd Cc,meamEs _ pCEm (Frheaw quiss qs quiitd)
5 -
J1 .@2
2 uF 8 uF
10v] T Tc,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A boy of mass 4 kg is standing on a piece of wood having mass 5 kg. If the coefficient of
friction between the wood and the floor is 0.5, the maximum force that the boy can exert on
the rope so that the piece of wood does not move from its place is N. (Round off

to the Nearest Integer)
[Take g =10 ms 7]

W
M

W
E 3

o
A,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643513892 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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4 kg F=HIA F1 IS 9% 5 kg FAHM F [HH Sl F ghe W @A €| AfE AhE SR 9 o =
T U 0.5 7, T SR W Ao R S S e AT 98 S ae foad fE @wdt @ 2w
M = H 7 8 N 2rm i (Feeas quis % qoifed)
[g=10 ms 2 iferg)

W
M

‘=
L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643513893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The image of an object placed in air formed by a convex refracting surface is at a distance of

rd
10 m behind the surface. The image is real and is at 3 of the distance of the object from

the surface. The wavelengﬂ'n of Iight inside the surface is — times the wavelength in air. The

3

: . X :
radius of the curved surface is — m . The value of ‘x" is
13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 23 Question Id : 8643513893 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Tl 390 WEdE 58 5 9 | feud Tt faa &1 wfafa= 9 % 99 10 m o W@ 21 98

wﬁrﬁmwﬁm%ﬁmmﬁfﬁmqﬁﬁm@ﬁﬁ%ﬁ%l T2 3 +ffq G a0 W9l

y. -t

g F O # 2 T ¥ T s B % mBxFAR___ R
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 24 Question Id : 8643513894 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field intensity produced by the radiation coming from a 100 W bulb at a distance
of 3 m is E. The electric field intensity produced by the radiation coming from 60 W at the

same distance is

.

lx
\JIE E. Where the value of x=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643513894 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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T 100 W 3 =ica | Scafsia fafeui 5171 9= 9 3 m S R o9 9 & Jiaa E €1 51 o <4

= =, w P it = iy = iy lll__ e
ﬂ?ﬁﬂwiﬁi{ﬁlﬂﬁfﬁrﬁﬁﬁﬁtﬂﬂmﬁﬂﬁﬁﬂﬂ%mmMGE,?THJ:: |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643513895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Seawater at a frequency f=9x102 Hz, has permittivity £=80¢, and resistivity

p=0.25 {dm. Imagine a parallel plate capacitor is immersed in seawater and is driven by an

alternating voltage source V(t)=V, sin(2wft). Then the conduction current density

1
becomes 10F times the displacement current density after time t = 300" The value of x is

(Given : = 9%107 NmC )

dreg
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643513895 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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et s f=9x102 Hz R 99 9@ &1 fagmeierd e =80e, 791 Ffo=eal p=0.25 Qm 2|

Fou Fifan fF F15 garm ufew gufs g9 9@ § T ¥ 991 3@ ac Aieed &g

V(t) =V, sin(2wft) G F=ferd fohan T 81 /@, 99t = %E%WWWWW

R S 1 10* TA1 & W1 1 F@l x A gl

i g
(fea & : =9 x 10 Nm2C™2)
—1-’:Tl:'.[]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643513896 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The electric field in a region is given b}-‘ E = %E{); I %E{) ; with Eg =40 x 1[13%. The

flux of this field through a rectangular surface area 0.4 m? parallel to the Y~ Z plane is
Nm?C L,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
Question Number : 26 Question Id : 8643513896 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L&) = = =, = 2 M ?"p M .g,.. " =
WW“WWE=EE{H IEE{};‘%W L{}:J,_Uxm“% | Y- Z A % HEHAR

0.4 m2 29FA & AFAEHR J=2 9 oA Fe 59 9F F Tl N m2C -1 grm|
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 27 Question Id : 8643513897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The disc of mass M with uniform surface mass density « is shown in the figure. The centre of

where

A |
A |w

: : G X x
mass of the quarter disc (the shaded area) is at the position g

xis . (Round off to the Nearest Integer)

[a is an area as shown in the figure |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643513897 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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A | THTHA FHH M F1 S Jiww St T 8 fowes 6 5omE e o ¥ 1 59 A

. A
%qm%ﬁmﬁm(ﬂﬁam)mu’%ﬁﬁ[%%%%}l%ﬂaﬁx %1 (Trwemm

qulish qk UIitehd )
[3TRE H 7 SATER 2 ¢ 4 )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643513898 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A hnd}-' of mass 1 kg rests on a horizontal floor with which it has a coefficient of static

friction % It is desired to make the body move by applying the minimum possible force
F N. The value of F will be . (Round off to the Nearest Integer)

[ Take g=10 ms ™~ ?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 28 Question Id : 8643513898 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1kgwmﬁmwﬁmwmﬁmmm%%mmﬁmﬁ%| afg

FE A S T FN TR g e MM Iea e @ FRaa M
(FrFeaa quiis @ quiifee )
[g=10 ms 2 Fiferu]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A particle of mass m moves in a circular orbit in a central potential field U(r) = Uyr?. If

A
Bohr's quantization conditions are applied, radii of possible orbitals r, vary with n« , where

als
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643513899 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ol F2a A 89 U(r)=Uyr! § 3589H m F1 &5 &0 g41F F&1 F Ta9E 81 4afg
- * (a1 [ Y = = L = ST e . 1_x ot L =g
AR FATHTHAU I G 1 AR F4, ° HAIfd FGhI F Gl r, no & 919 H foa=mo & &, @
«®HAA ¥ (Fiweay quis 9% quifEa)

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 30 Question Id : 8643513900 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Suppose you have taken a dilute solution of oleic acid in such a way that its concentration

becomes 0.01 cm® of oleic acid per cm® of the solution. Then you make a thin film of this

solution (monomolecular thickness) of area 4 cm? by considering 100 spherical drops of

1
3 )3 -
radius {—W x 1072 c¢m. Then the thickness of oleic acid layer will be xx10~ 1 m.
WU S

Where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643513900 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A T A s ST 61 HIE 0 [ge9q 38 ghR 9 fomn & % faems & 9fd on® F sifers
YA FT Higdl 0.01 cm® B WA ¥ HEF UvEM A9 59 fHeET F 4 om? SFAFA H RS Tl

(USRI HTE ) fﬁqaﬂm%ﬁﬂnﬁw[i] x 107% cm = 100 Tietta sz 9 T E1 T

Aiferer 771 & foprdlt 310 FT AESA x x 104 m B | FE x FHA Zl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Chemistry Section A
Section Id : 864351261
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351261
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643513901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Amongst the following, the linear species is :
Options :

86435111701. &l

NO,
86435111702. =

86435111703.

86435111704. =

Question Number : 31 Question Id : 8643513901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FrAfafad 5 i taw oifis €, 98 8 :
Options :

86435111701, 3
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86435111702, NO2

D"E
86435111703, -

CL0
86435111704. =

Question Number : 32 Question Id : 8643513902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

During which of the following processes, does entropy decrease ?
(A) Freezing of water to ice at 0°C

(B) Freezing of water to ice at —10°C

() Nyfg) + 3H,(g) — 2NHs(g)

(D) Adsorption of CO(g) on lead surface.

(E) Dissolution of NaCl in water

Choose the correct answer from the options given below :
Options :
86435111705, ) (B) (C) and (D) only

86435111706, (A)- (C) and (E) only

86435111707, (4) and (E) only

86435111708, (B) and (©) only

Question Number : 32 Question Id : 8643513902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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fret 3 & ot el gt e &2
(A) 0°C R e F1 9% § o |
(B) —10°C W e &I 9% § oA
(C) Ny(g) + 3Hy(g) — 2NH,(g)
(D) CO(g) =1 1= FT " W ATy
(E) NaCl &1 91 | e
Options :
86435111705, T30 (A). (B), (O) 71 (D)

86435111706, T (A), (C) 7= (E)

86435111707, T (A) T (E)

86435111708, 0 (B) 7 (C)

Question Number : 33 Question Id : 8643513903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the coagulation of a negative sol, the species below, that has the highest flocculating
power is :

Options :

24
86435111709, 02

3
86435111710, N2

PO3
86435111711,

503
86435111712,

Question Number : 33 Question Id : 8643513903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

HUeHE 16 & e % feu 49 o 7 Siiis faast vk wii waifas B, 92 8
Options :

A2+
86435111709, Ba

86435111710.

e
)
86435111711. PO

SO3
86435111712

Question Number : 34 Question Id : 8643513904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set of elements that differ in mutual relationship from those of the other sets is :
Options :

86435111713, bBe - Al

86435111714, B~ S

86435111715, L1~ Na

86435111716, 1~ M8

Question Number : 34 Question Id : 8643513904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tel o1 U2 S S HEe H g R A e g 9w
Options :

86435111713, Be — Al

86435111714, B~ S

86435111715, -i-Na
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86435111716, 1~ M8

Question Number : 35 Question Id : 8643513905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) Haematite () ALO;xH,O
(b) Bauxite (i) Fe,O4
(c) Magnetite (i) CuCO4Cu(OH),
(d) Malachite (iv) Fe,0O,

Choose the correct answer from the options given below :
Options :

86435111718 (a)-(ii), (b)-(i), (c)~(iv), (d)-(iii)

86435111719, @), (b)-(i), (c)-(ii), (d)-(iii)

26435111720, @)-(1), (b)-(iii), (c)-(i), (d)-(iv)

Question Number : 35 Question Id : 8643513905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - | 1 | - 11 H fAeam ifem |

= - 1 =i - 11
(a) THeES i ALO,;xH,0
(b) =TFETEE (i) Fe,O,
(c) FHerse (i) CuCO;Cu(OH),
(d) HemeTEe (iv) Fe,O,
= fou 7 fasredi 9§ 4 Wl I 1 A HIA
Options :

86435111717, @), (b)-(iii), (c)~(i1), (d)-(iv)
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86435111718, (@)-(i), (B)-(i), (0)-(iv), (d)-(iii)
26435111719, @r(1v), (b)~(i), (c)-(ii), (d)-(iii)

26435111720, @)-(1), (b)-(iii), (c)-(1), (d)-(iv)

Question Number : 36 Question Id : 8643513906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The functional groups that are responsible for the ion-exchange property of cation and anion
exchange resins, respectively, are :

Options :

SO,H and — NH,

86435111721.
86435111720,  Hp and —COOH
NH, and —SO,H
86435111723. 2 _
86435111704, 2C3H and —COOH

Question Number : 36 Question Id : 8643513906 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YFEA T4 F0TEA famEs W F o faaeE o F fou STRerE ghEieIeE 19 SE:
Options :
SO,H @1 — NH,
86435111721. : <
86435111722, ~ Vg 941 —COOH
86435111723, Toiz 0 —S05H
SO,H @41 —~COOH
86435111724, 4

Question Number : 37 Question Id : 8643513907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
One of the by-products formed during the recovery of NH, from Solvay process is :
Options :

NH ,Cl1
86435111725. 4

Ca(OH),
86435111726 2

CaCl,
86435111727. =

NaHCO,
86435111728, :

Question Number : 37 Question Id : 8643513907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T fafy § NH, &1 73 mift § forfaa s § 9w ¢
Options :

NH,CI
86435111725,

Ca(OH),
86435111726 2

86435111727, 3¢k

NaHCO,
86435111728, ~

Question Number : 38 Question Id : 8643513908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The set that represents the pair of neutral oxides of nitrogen is :
Options :
36435111729, T O 2 NLO

N,O and NO,
86435111730. = &

NO and NO,
86435111731. =
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N,O and N,O,
86435111732, -~ R

Question Number : 38 Question Id : 8643513908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Yz oo As2isr % I AEsE W YT g, 9
Options :
86435111729, NO T N,O

N,O T4 NO,
86435111730. ~ 2

86435111731. NENRENE

86435111732. NO I NyO,

Question Number : 39 Question Id : 8643513909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The common positive oxidation states for an element with atomic number 24, are :

Options :
86435111733, 1110 16

86435111734, t2to +6

86435111735, F1and +3to 16

86435111736, | 1 and 13

Question Number : 39 Question Id : 8643513909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
U &= 24 F UF o & o0 9 oA s AT SR ¢
Options :

-

86435111733, t1H +6
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86435111734, T2 H 16
86435111735, T L oM +3H +6
86435111736, 1 @1 +3

Question Number : 40 Question Id : 8643513910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - 1 with List - 11 :

List - 1 List - 11
(a) [Co(NH3)g] [Cr(CN)g] (i Linkage isomerism
(b)  [Co(NH,), (NO,),] (i) Solvate isomerism
() [Cr(H,0),]Cl4 (ii) Co-ordination isomerism
(d) cis-[CrCl,(ox),]” (iv) Optical isomerism

Choose the correct answer from the options given below :

Options :
86435111737, @)-(1), (b)-(ii), (c)-(iii), (d)-(iv)

26435111738, @)(1), (b)-(1), (c)-(iii), (d)-(iv)
86435111739, @)-(iii), (b)-(1), (0)-(ii), (d)-(iv)

s6435111740, @), (b}-(iD), (c)-(ii), (d)-(i)

Question Number : 40 Question Id : 8643513910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H= - 1 791 F=il - 11 1 e ®ifs |

Tt - 1 = - 11
(@) [Co(NHy)] [Cr(CN)] (i) = T
(b) [Co(NH,); (NO,),] (i) ToemE® IS FHEEET
(©) [Cr(H,0)]Cl, (iii) STHESHASH HAEF
(d) cis -[CrCLy(ox),J’ (iv) gaU THEFE
= feu fasedi # 9 Wl ST H T B0 :
Options :

86435111737, (@-(D), (b)-(ii), (c)-(iii), (d)-(iv)
se3s11173g. @), (B)-0), (O)iii), (@)-(iv)
86435111739. (a)-(iii), (b)~(), (c)~(ii), (d)-(iv)

86435111740, @), (D), ()-(iii), (d)-(i)

Question Number : 41 Question Id : 8643513911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following statement(s) is (are) incorrect reason for eutrophication ?
(A) excess usage of fertilisers
(B) excess usage of detergents
(C) dense plant population in water bodies
(D) lack of nutrients in water bodies that prevent plant growth

Choose the most appropriate answer from the options given below :
Options :

86435111741, (A) only

86435111742, (B) and (D) only

(C) only

86435111743.

86435111744, (D) only

43/90



3/18/2021

Question Number : 41 Question Id : 8643513911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TfRryA + fau fr=fafias FoE § 9 60 9/3 Fro oW 2/
(A) e H STNTH 3T |

(B) 9HISIRI &1 FETIH S9AM |

(C) rererEi § e =it == et |

(D) SrererE H ureepi =1 surE S e faewr 5 dewa g

= fa& fawredi # 9 waifue 3fea 3@ gfu)

Options :

86435111741. e

86435111742, P (B) @41 (D)

86435111743. ©

86435111744, ¥4 (D)

Question Number : 42 Question Id : 8643513912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Nitrogen can be estimated by Kjeldahl’s method for which of the following compound ?

Options :
86435111745. B
86435111746. CHp —NH,

44/90



3/18/2021

86435111747. N

86435111748, ~ N=NCIT

Question Number : 42 Question Id : 8643513912 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ATESISA & Fee [y ¥ dAdher fA=farad f&3 9ifs & fau v =1 9@ 2
Options :

86435111745. B
86435111746. CH; —NH,
fj
Sl
86435111747. N
T + - —
86435111748, ~ N=NC

Question Number : 43 Question Id : 8643513913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The correct pair(s) of the ambident nucleophiles is (are) :
(A) AgCN/KCN
(B) RCOOAg/RCOOK
(C) AgNO,/KNO,
(D) Agl/KI
Options :
86435111749, (4) only

86435111750, (B) only

86435111751, (&) and (C) only

86435111752, (B) and (C) only

Question Number : 43 Question Id : 8643513913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS AT TIEET #1/F TE TH /T
(A) AgCN/KCN

(B) RCOOAg/RCOOK

(C€) AgNO,/KNO,

(D) Agl/KI

Options :

86435111749. o i

.

86435111750, 3 (B)

86435111751, 1o (A) 741(C)

86435111752, T (B) @4 (C)

Question Number : 44 Question Id : 8643513914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements :
Statement 1 : 2-methylbutane on oxidation with KMnQO, gives 2-methylbutan-2-ol.
Statement Il : n-alkanes can be easily oxidised to corresponding alcohols with KMnQ,.
Choose the correct option :
Options :
6435111753, Both statement I and statement Il are correct

86435111754 Both statement 1 and statement Il are incorrect
86435111755, Statement 1 is correct but statement 11 is incorrect

86435111756, Statement 1 is incorrect but statement Il is correct

Question Number : 44 Question Id : 8643513914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= <1 oA fau )

FITL:  2-AAA F KMnO, ¥ ARAFI 31 ¢ 2-Higersgeq-2-#fd

FHIT I ;. n-TEHA F FTA H KMnO, §R €70 Uehieiell § sTadidha FT T ¢
w2 faseq 9
Options :

m ) L
ceaisii1ngy BT HRA LI 2 |l E

86435111754. et - L

86435111755, PO 1 W & 0T AT 11 7T &

EFl' 9_]:' a
86435111756, T A7 LK TR HATU T 7

Question Number : 45 Question Id : 8643513915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose the correct statermment rega_rdf_ng the formation of carbocations A and B given.

+
> CH3 = CHE = CHI b CHZ + Bl"_
II’.I'A-JF

CH;—CH,—CH =CH,+ HBr

+
» CH; —CH,—CH—-CH3+Br™
o '[3”
Options :

6435111757 Carbocation A is more stable and formed relatively at slow rate

86435111758, Carbocation B is more stable and formed relatively at slow rate

86435111759 Carbocation A is more stable and formed relatively at faster rate

86435111760, arbocation B is more stable and formed relatively at faster rate

Question Number : 45 Question Id : 8643513915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4
» CH; - CH,—CH,—CH,+Br™
.r.rﬁr.r

CH;—CH,—CH=CH,+HBr

+
> CH;— CH,—CH—CH;+Br~
ll’.I'Bflf

I faifed FESEA A 91 B % G2y § Wl Fe g
Options :

c6a35111757. FETIE A Afera Tt & AR e ot i 4 forfaa 2 2|

c643511175g, PTATAE B Al Tl ¥ S stdenda ofieit i & foref=a @ ¢

86435111759, FEEHEA A SAHF TIET # SR AUeFq aig T o ot 2 2
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06435111760, AT B Aferer Tt & 3R erengd dg Tifa 9 faefem 2 2

Question Number : 46 Question Id : 8643513916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£ Enzyvme A B =
C12H» 0 +H0 CeH1206 +CeH1206
Sucrose Glucose Fructose
CgH,,0—22me 3, oC,HOH+2CO,
Glucose
In the above reactions, the enzyme A and enzyme B respectively are :
Options :
86435111761. [nvertase and Zymase

6435111762, Zymase and Invertase

86435111763, Invertase and Amylase

26435111764, “rmylase and Invertase

Question Number : 46 Question Id : 8643513916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Enzyme A

Ci2H»0q; +HO CeH1206 +CeH1204
Sucrose Glucose Fruclose

CiHys 0 Mel o0 H-OH4 2005

Glucose

TR AT § TSIE9 A 991 =54 B ¥ %AW
Options :

86435111761, TS A% TIEHS
86435111762, e Al TTAES

86435111763, 1SS adl UfHer
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86435111764, ST AL TS

Question Number : 47 Question Id : 8643513917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,
C ?I |?\]20(_| + ('QII “OH —» @ + N2+”X”+"Y“
(A)
In the above reaction, the structural formula of (A), “X"” and “Y” respectively are :
Options :
N5 OCH;
H H
86435111765. Cl
N, OCH,4
I
»  CH3—C-H, H0
86435111766,
N; -
E H
: H O H - HzD
OCHj,

86435111767.
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N, Cl-

0
+ CHs3—C—-H , HC

YCH
86435111768. OCH3

Question Number : 47 Question Id : 8643513917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

OCH,

[.."‘TH?NED{_-‘I G P {_12H50H e 4 P\'z_l_-'-'xﬂ 4 HYH
(A)

S AR (A) “X7 991 “Y” F BT g9 @ A9

Options :
N; OCH;
H H
r H D ‘H - Hd
86435111765. Cl
N, OCH,
7
+ CH3;—C—H , H,0
86435111766. Cl
N3 Cl-
I H
OCH,4

86435111767.
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N, Cl-

O
g CHH_C_H . HCl

YCH
86435111768. OCH,

Question Number : 48 Question Id : 8643513918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Primary, secondary and tertiary amines can be separated using :
Options :

86435111769. Chloroform and KOH

86435111770. Benzene sulphonic acid

86435111771 para-Toluene sulphonyl chloride

86435111772, “icetyl amide

Question Number : 48 Question Id : 8643513918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mefhe, fgdias aon gras THE 1 gIF F T ¢
Options :

86435111769, T TR AW ICRELERE SRR e

86435111770, S o1 HTHIH =T H |

86435111771 Para-SIeleT HEHIET FIRMGE H |

86435111772, 0 feat wAEE ||

Question Number : 49 Question Id : 8643513919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 1L

List - 1 List - 11
Chemical Compound Used as
(a) Sucralose (i)  Synthetic detergent
(b)  Glyceryl ester of stearic acid (if)  Artificial sweetener
(c) Sodium benzoate (i) Antiseptic
(d) Bithionol (iv) Food preservative

Choose the correct match :
Options :
86435111773, @D, (b)-(ii), (c)-(iv), (d)-(iii)

86435111774. (a)-(ii), (b)-(i), (c)~(iv), (d)-(iii)
86435111775, (@)-(v), (b)-(iii), (c)-(ii), (d)-(i)

86435111776, @) (i), (b)~(ii), (c)-(iv), (d)-(1)

Question Number : 49 Question Id : 8643513919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tl - | 1 |l - 11 9 e Sifs |

Tt - 1 = - 11
T AT EspIEl|
(a) eI (i) Tyl ATHSH
(b) Teufi= v 1 fremia = (ii) FEA AYF
(c) wfeam a=imee (iii) gferre
(d) =R (iv) +eF 9faes
CERERIC R (E L

Options :
86435111773. (@)(1), (b)-(ii), (c)-(iv), (d)-(iii)

86435111774. (a)-(ii), (b)-(i), (c)~(iv), (d)-(iii)

86435111775, @F(), (b)-(iii), (c)-(i1), (d)-(1)
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86435111776, @)-(ii), (b)-(ii), (c)-(iv), (d)-(i)

Question Number : 50 Question Id : 8643513920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fructose is an example of :

Options :

86435111777, Aldohexose

86435111778. Ketohexose

86435111779, L yranose

86435111780, 1eptose

Question Number : 50 Question Id : 8643513920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Options :

86435111777, “°o eI

86435111778. S

86435111779, e d
86435111780.

Chemistry Section B
Section Id : 864351262
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
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Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351262
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643513921 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of chlorine atoms in 20 mL of chlorine gasatSTPis 1021 (Round off

to the Nearest Integer).

[Assume chlorine is an ideal gas at STP

R=0.083 L bar mol~! K~1, N, =6.023 x10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643513921 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

STP W 20 mL FrA 19 ¥ S Wi & 9ene
(feFeam quis aF)
(STP WX SR = 31129 119 | ifen)

102

[R=0.083 L bar mol~! K~1, N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513922 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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KBr is doped with 10 ~> mole percent of SrBr,. The number of cationic vacancies in 1 g of
KBr crystal is 10", (Round off to the Nearest Integer).

[Atomic Mass : K: 391 u, Br: 799 u
N 4 =6.023 x 1023]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643513922 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

SrBr, % 10~ Hiel fcerd ¥ KBr %1 29 fdan 701 & KBr & 1 g fofee § s fifemsti =61 e
2 1014 | (freeam quis @)

[Tfve Hafedl : K:39.1 u, Br: 799 u
N, =6.023 x 10%]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643513923 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

In the ground state of atomic Fe(Z=26), the spin-only magnetic moment is
%1071 BM. (Round off to the Nearest Integer).

[Given : /3 =1.73, /2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 53 Question Id : 8643513923 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HIfUE® Fe(Z=26) #I =09 s=e § el foq geg@ sl 8 x10-1 BM |
(FeFeam quis )

[fem & : J3 =173, J2 = 1.41]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513924 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A 1 molal K, Fe(CN), solution has a degree of dissociation of 0.4. Its boiling point is equal to
that of another solution which contains 18.1 weight percent of a non electrolytic solute A.
The molar mass of A is __u. (Round off to the Nearest Integer).

[Density of water = 1.0 g cm™ 7]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643513924 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

K, Fe(CN),, % 1 Hreret farera =it fadiior @ 0.4 2 | 56e Foie U g6 faerad & T9[ ¢ fored
18.1 R Wfavi U Sed FI=ed faom A 2
A 1 Hrer gefd & ul (Freeam quis o)

[/ &1 599 = 1.0 g cm ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643513925 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the reaction [N 20y4(g) == 2ZNO»(g)- The temperature at which K.=204 and

Kp=600.1, is K. (Round off to the Nearest Integer).
[Assume all gases are ideal and R=0.0831 L bar K~ ! mol " !]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643513925 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T AR N0, (g) —= 2NO,(g) T F=R Fifow | fsm @9 ® K. =204 791 Kp=600.1 &
WA, 98 K| (e gufs #)

[l TH H1 A9 J9F ST 99 R=0.0831 L bar K~ ! mol !
[

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643513926 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A KCI solution of conductivity 0.14 S m ~ ! shows a resistance of 4.19 () in a conductivity cell.
[f the same cell is filled with an HCl solution, the resistance drops to 1.03 (). The conductivity
of the HCI solution is %x1072S m~!. (Round off to the Nearest Integer).
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643513926 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.14 S m~ ! =e®ar F1 % KCl faomm 9@ a 9 § 4.19 O gy feaa 21 9= 39
7tz T HCl faa9d 9 «1g € a1 9fody e 1.03 Q 21 9/ 1 HCl faema %1 9@ &
x10"28 m~ 1| (Fieaq guis )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513927 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The reaction 2A Bp_ — 2AB is an ::-Iementar}-' reachon.

For a certain quantity of reactants, if the volume of the reaction vessel is reduced by a factor
of 3, the rate of the reaction increases by a factor of . (Round off to the Nearest
Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643513927 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AT 2A + B, — 2AB UF YRI9F AfafF T
HAfqerHsl &1 T Ffvad a= & fou sfufEwa F 567 &1 A"dq 3 % o 9 =e foan <@
Afufsran #1 = TS 7o | =g ST, 98 ¥ | (Freeaw quis H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 58 Question Id : 8643513928 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

On complete reaction of FeCl, with oxalic acid in aqueous solution containing KOH, resulted
in the formation of product A. The secondary valency of Fe in the product A is

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643513928 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

weia faereE, e KOH Sfeer 2, # FeCl, T Seifar® o7 &1 Y0 A4l TF o8 A
forfad Fdt &1 3o A H Fe #1 fgdas @amam e | (Fiweaw qoi® #)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643513929 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of C-C sigma bond /s in mesityl oxide (C;H,O) is __
to the Nearest Integer).

. (Round off

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100
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Question Number : 59 Question Id : 8643513929 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Hfafear srmEe (C,H,0) § C-C fomm swam/ swari =1 9o dem ¢
qoIi )

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 60 Question Id : 8643513930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

O

F1—C

TR

0140 g 0.388 g 0210 g

Consider the above reaction. The percentage yield of amide productis . (Round
off to the Nearest Integer).

(Given : Atomic mass : C :120u, H: 1.0u, N:14.0 u, O: 16.0 u, Cl : 35.5 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643513930 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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I
&
e
-+ Cbl l_qu ICGI |5 _ CEHE_C_N_{CFJH.:}}E
0.140 g 0.388 ¢ 0210 g
IR Al | faar Fifw | T s Fiafavmaf e | (e s #)

(ﬁm%: g Hefadl : C: 120w, H: 1.0 u, N: 14.0u, O:16.0u, Cl1:355u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351263
5

Online
Mandatory
20

20

80

Yes

1
864351263
Yes

Question Number : 61 Question Id : 8643513931 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

; . ; . 1 i
The number of solutions of the equation sin 1[12 I —} F cos 1[12

I3

2 X
—| = x", tor
3

xe[ —1, 1], and [x] denotes the greatest integer less than or equal to x, is:

Options :

86435111791, 0

2
86435111792. =
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86435111793, 4

86435111794, Infinite

Question Number : 61 Question Id : 8643513931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
" . g - T 2 - i g 3 = =
THET sin ! [r | ﬂ b cos I[IE ;1 = x?, xe[ —1,1], @I [x] H&TH IUN® =< x &, & sl
FHENE :
Options :

86435111791, 0

=]

86435111792.

86435111793, 4

86435111794, THEA

Question Number : 62 Question Id : 8643513932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the Boolean expression (paq)®(peq) is a tautology, then ® and « are respectively given by :

Options :
86435111795, ™V
86435111796, /»

86435111797. "

86435111798, "

Question Number : 62 Question Id : 8643513932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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afe gefta S (paq)e(peq) TH T &, T e T4 o 9 ¥ ;
Options :

86435111795, "V

86435111796, 7

86435111797. ¢

86435111798, "

Question Number : 63 Question Id : 8643513933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let O be the origin. Let OP =x1 + yj kand OQ =—i + 2j + 3xk,x,yeR, x>0, be

—3 : — ' —_— ; — A A, A
PQ| = 20 and the vector OP is perpendicular to OQ. If OR =3i + zj - 7k,

such that

—3 —
z € R, is coplanar with OP and OQ, then the value of x? + 1>+ z? is equal to :

Options :

86435111799.

I3

86435111800.

|

86435111801.

86435111802, ¢

Question Number : 63 Question Id : 8643513933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
£ —:r M M A, —} . M A " a
AAMOHAEE 8 A OP =xi +yj — kAMOQ = —i + 2j + 3xk,x,ye R, x>07%, foa

f . i — ' _} o ; — A F.Y A
feu ‘P(;}‘ = J20 A | op, AWM OQ F A&l AT OR =3i + zj — 7k, z€R,

\.-._} _) = m = ] 7 ]
Hfedi OP T4 OQ % Wedeld 8, a a2+ y2+ 22 &1 71 == &

64/90
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Options :

86435111799.

=]

86435111800.

|

86435111801.

86435111802, ¢

Question Number : 64 Question Id : 8643513934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If x, y, z are in arithmetic progression with common difference d, x # 3d, and the determinant

3 42
of the matrix |4 5.2
5 k

=

. o
is zero, then the value of k= is :

[

Options :
86435111803, ©

86435111804. =~

86435111805.

=]
]

86435111806.

Question Number : 64 Question Id : 8643513934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B S

TS x, y, z HAFR A1 A € forgem W d, (x#3d) B AR A= |4 502 | B ORfOE g %,
5 k z

AIRFEAAE

Options :

86435111803, ©
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86435111804, 12

86435111805. °

]
I

86435111806.

Question Number : 65 Question Id : 8643513935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
& o L AR tan{ar cos™0)
The value of the limit lim (1 ¢ >

8—=0 sin (2 sin”~0)

is equal to :

Options :

1
86435111807. 4

1
?
86435111808. 2
1
86435111809, %
0
86435111810.

Question Number : 65 Question Id : 8643513935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

tan( c ur-.zl]‘_l

lim

—— 7 A A T
8—0 sin (27 sin”0)

Options :
1
86435111807. 4

ba| =

86435111808.
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1
86435111809, 4

86435111810.

Question Number : 66 Question Id : 8643513936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[}

105in 27x]

kil dx =ae” '+ Be 2 +vy,whereaq, [3, v are integers and [x] denotes
0 e

If the integral

the greatest integer less than or equal to x, then the value of «+ 3 + v is equal to :
Options :

86435111811, ©

=l

86435111812, 1V

]
]

86435111813.

86435111814.

Question Number : 66 Question Id : 8643513936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10(gin 27x]

1
7fg THHEA — dx =ae '+ Be 2 +v B, W&l o, B, y YOF & qUT [x] HETH YUIF < x
0 e

?, Wt P+ & HA TR E
Options :

86435111811,
86435111812, 10
86435111813, 20

86435111814.
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Question Number : 67 Question Id : 8643513937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the curve y=y(x) is the solution of the differential equation

2(x? A :fﬁ'g']dy y(x 11'4]d1= ox'a dy, x > 0 which passes through the point

4 el
(L 1 3 loge 2] , then the value of y(16) is equal to:

X

Options :

86435111815.

86435111816,

(T I %Iﬂgﬁﬂ
86435111817. * © ; ’

4 il I ﬁlogﬁﬂ
3 3 ]
86435111818.

Question Number : 67 Question Id : 8643513937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=

e swe whE 2(x% + X4) dy - y(x + ¥3)dx = 204 dx, x>0 H T T y=y(x) &

o 4 g 2
ﬁ@(l,l ElogEZJQWW%,Wy{lﬁ]ETHHW%:

l".

Options :

86435111815.

86435111816.
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86435111817, * 3 3 "

86435111818.

Question Number : 68 Question Id : 8643513938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential equation

7 ' \
cosx(3sinx + cosx + 3) dy=(1 + y sinx(3sinx + cosx + 3))dx, 0 =x = %, ¥(0)=0. Then, y(%J is

unal to:
Options :
3.3 -8
2 log, [T |
86435111819. ¥ 4
(3 4 ?W
2 IngH [ -
86435111820. 3 g
| 2.3 +9)
2log, {T |
86435111821. “ ’
2.J3 4+ 10
2 Ingﬁ ("'{_TW
86435111822. : .

Question Number : 68 Question Id : 8643513938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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HAT 3 96d HE

cosx(3sinx + cosx+3) dy=

(1 +y sinx(3sinx + cosx + 3))dx, 0 =x = '—, y(0)=

%l fﬂ y[:zw
3

Options :

2 log, {—%‘ﬁ 81
86435111819. -4

2log, [“ﬁ ! FW
86435111820. .2 )

2 log,. {—Eﬁ l 91

. e )

86435111821,

2103{,_{”5 | 1{11
86435111822. ¥ g d

0 =1 & y=y()

Question Number : 69 Question Id : 8643513939 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the function f: R — R defined by f(x

Options :

86435111823, monotonic on (
monotonic on (

86435111824.

86435111825, OG- A1
not monotonic on (

86435111826.

]:45[2 '-"}m'&;]]
o ,

, @) only
=, 0) only
2 (0, =)

=, 0) and (0, =)

x|, x 2 0

. Then fis:

x=0
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Question Number : 69 Question Id : 8643513939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
i Fi Y
1
2 sin‘ —w | x|, x= 0

Hirp=3 \x)) B0 fHifad e f: R — R 1 991 ®ifau| %o f:
| 0 ;2=

Options :

26435111823, o (0, =) W THfE= (monotonic) &

86435111824, (o, 0) R TH= &

86435111825, *- 0w (0, =) W UFHEE ¥

=, 0) T (0, =) W UHiee & 8

86435111826. (

Question Number : 70 Question Id : 8643513940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

lim [r] + [2r] Iﬂ... + [nr]

n—o n-

¥

where r is a non-zero real number and [r] denotes the greatest integer less than or equal tor,
is equal to :
Options :

86435111827, "

ra =

86435111828.

86435111829, 2T

86435111830. 0

Question Number : 70 Question Id : 8643513940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

. [r] + [2r] + .... + [nr]
li
nﬂ-"l-: 112 2

Rl r UF YT andiad S a9 [r] HewH O < r €, 1 A 9 ¢
Options :

86435111827, "

r

86435111828, 2

86435111829, 2T

86435111830. 0

Question Number : 71 Question Id : 8643513941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a computer program generate only the digits 0 and 1 to form a string of binary numbers

with pmhabﬂit}-' of occurrence of 0 at even places be = and pmbahﬂit}-' of occurrence of 0 at

1
the odd place be 7. Then the probability that ‘10" is followed by ‘01" is equal to :

3

Options :

i
86435111831, 9

1
86435111832, ©

1
86435111833, °

k'

86435111834, 18
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Question Number : 71 Question Id : 8643513941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oM f5- %1 T@N (binary numbers) 1 TF 2 99 & o0 T FH T Fad 371 0 37

= . = = m 1
1 %1 59 THR S1d (generate) A & fof T =99 T 0 % 2 T Wifaswar E%wﬁﬂnwﬁmn

=,

Options :

86435111831.

86435111832.

86435111833.

86435111834.

= ~ 1 =, = = = ~ -
a?%ﬁa?rmﬁaﬁ’m;% A 10 F =12 017 F 3T FT 9EaET ©

i

o | =

03 | =

Question Number : 72 Question Id : 8643513942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the sides AB, BC and CA of a triangle ABC have 3, 5 and 6 interior points respectively,

then the total number of triangles that can be constructed using these points as vertices, is

equal to :
Options :

86435111835.

86435111836.

86435111837.

86435111838.

360

364

333

240
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Question Number : 72 Question Id : 8643513942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7fg T s ABC &t 99 {olisfi AB, BC 91 CA W FH9: 3, 5 916 Sai fag €, o1 37 fagei
1 ¥ S T w A P # e e i

Options :

86435111835, 260

86435111836. 564

86435111837. 333

2
86435111838. =)

Question Number : 73 Question Id : 8643513943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the circle x2+ y2=25 at the point R(3, 4) meet x-axis and y-axis at points P
and Q, respectively. If r is the radius of the circle passing through the origin O and having

centre at the incentre of the triangle OPQ, then r? is equal to :

Options :

o
lq|Eﬁ

86435111839,
625
72
86435111840.

529
86435111841. -
585

86435111842, 0P

Question Number : 73 Question Id : 8643513943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A 9 12+ y2=25 & fag R(3, 4) T T8 @ x-HH q91 y-HA Fl FHA9: 4531 P a0 Q W fHewdt
21 afg gefag O | e oI 916l 94, o Fws B OPQ 1 #ia: 7= &, &1 BT r 2, o 12 9l
T

Options :
125
86435111839, /2
625

72
86435111840,

529

86435111841. s

‘585

86435111842, 00

Question Number : 74 Question Id : 8643513944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LetS;, S; and S, be three sets defined as

S, =1{zeC:z 1| =2}

iy
wd
I

{z e C: Re((1-1)z) =1}

S; = {ze C:Im(z) = 1}
Then the set S, S, M S4

Options :

86435111843, Das exactly two elements

86435111844, has exactly three elements

86435111845, 1S @ singleton

86435111846, nas infinitely many elements
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Question Number : 74 Question Id : 8643513944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A @ T=E S, S, ad1S, 1 g few e F
S, = [zeC:|z-1 _JE}

S5, = {ze C:Re((1-1z)=1},

S; = {ze C: Im(z) = 1}

Trﬁ?lﬂ?rﬁﬁl r“.SEr“.Saﬁ :
Options :

86435111843, T & A &

86435111844, T T 374

86435111845. b ¥

86435111846, 1 RfFd = g

Question Number : 75 Question Id : 8643513945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f: R — R be defined as f(x)=e " *sinx. If F: [0, 1] — R is a differentiable function such

. 4 b 1 .
that F(x) = j f(t) dt, then the value of j{]{F'{I] b f(x))e’dx lies in the interval
0

Options :

[ﬂ 2y
360" 360

86435111847.

[ 37 309

86435111848. sl

[331 334 |

86435111849. 360 360
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[335 336}

86435111850. 360" 360

Question Number : 75 Question Id : 8643513945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M f: R — R, f(x)=e ~ *sinx §R IR0 #1 A F: [0, 1] — R UF Sashera Fe © fomes fau

' e -1 |
Hﬂ=medﬁﬁﬁﬂ@ﬁﬂf@kﬂxmnﬁﬁqﬁﬁﬁmﬁmmﬁ%?
0 -

Options :

330 3317
360" 360

86435111847. [

[32? 329}
, F ’-‘ r
86435111848, ~00 360

[331 334}
86435111849, -360 360

[335 336}
360" 360

86435111850.

Question Number : 76 Question Id : 8643513946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6
The value of ) {6'[, T v + | is equal to :
r=0

Options :

86435111851, 224

86435111852, 1024

.
86435111853. o

86435111854, 1324

77/90



3/18/2021

Question Number : 76 Question Id : 8643513946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6
3 (°C - %Co, | MITA TR E :
r= 0

Options :
86435111851, 224

86435111852, 1024

7,
86435111853. 1124

86435111854, 1324

Question Number : 77 Question Id : 8643513947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the equation of plane passing through the mirror image of a point (2, 3, 1) with respect to

o O e B -
2 1 1

wd
[
=
|
i ]
(&=

x—2
line and containing, the line = is

ax + By +vyz=24, then a + +v is equal to:

Options :
86435111855, =

86435111856, 2U

86435111857, 19

86435111858. 18

Question Number : 77 Question Id : 8643513947 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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* m Il]- 3 Z|2\ = r - W™ = -
Afe &g (2,3, 1) & @@ e Y T ke & HYH 20 Yidiers H 2l A 9ol JHd,
R x—2 1—-y z+1 a "
R s foord &, o1 T qor + By +yz =24 F W ot oy T E ;

Options :

86435111855, 21

86435111856, 2U

86435111857, 19

86435111858. 18

Question Number : 78 Question Id : 8643513948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two tangents are drawn from a point P to the circle 2 yz 2x —4y +4=0, such that the

—1( 12 -1 12}
angle between these tangents is tan 1{;1 , where tan 1(€ | € (0, 7). If the centre of the
\ 2 ) \ 5/

circle is denoted by C and these tangents touch the circle at points A and B, then the ratio of

the areas of APAB and ACARB is :
Options :

86435111859, 9 : 4

86435111860, 1
86435111861, 2 - 1
86435111862, 11+ 4

Question Number : 78 Question Id : 8643513948 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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il

TF fAg PHIT 2+ 12— 2 4y +4=0 T 2 T TG Gidl TS | T T w@sti F = HHm

- - 12 ‘5". s 2 = = T e ] =
tan 1(?] %, el tan 1(%1 e (0, 7) &1 AfE 99 =1 = C & 71 3 =991 Tward 94 1 fagafi A qon
% A ', /

B W T¥ FTdl &, 91 APAB 991 ACAB % &%l 1 3179 © :
Options :

86435111859, 9 : 4

86435111860, ~ -
86435111861, 21
86435111862, 11+ 4

Question Number : 79 Question Id : 8643513949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The number of solutions of the equation x + 2 tanx = E in the interval [0, 2] is :

Options :

]

86435111863.
86435111864
86435111865, 4

86435111866.

Question Number : 79 Question Id : 8643513949 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A [0, 2] H FHFN x + 2 tanx = - F T F A ;
Options :

86435111863. 2
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86435111864,

86435111865, 4

86435111866. 3

Question Number : 80 Question Id : 8643513950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let L be a tangent line to the parabola y?>=4x — 20 at (6, 2). If L is also a tangent to the ellipse

e
m| o

j

2

P L= 1, then the value of b is equal to:
0

Options :
86435111867, 11

86435111868, 14

86435111869. M

86435111870.

Question Number : 80 Question Id : 8643513950 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- 3

T WEed y2=4x 20 F a5 (6, 2) W o W L g1 afg L, S99 % I %=1$"Hﬂ@

T R, 9 b AH S T
Options :

86435111867, 11

86435111868, 14

86435111869. e
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20

86435111870.
Mathematics Section B

Section Id : 864351264
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351264
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643513951 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

e

Let I, = | x!? (loglx)™ dx, where n e N. If (20)[,,=alg + Blg, for natural numbers a and 3,
n gix)) 10 9+ Plg
1

then « —  equals to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643513951 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AL, = J-Exw (loglx)" dx T W& ne N ¥1 AfZ o7 qORT o 701 B F fAT (20)1,,=ol, + BL R, A

1

a—B TR E |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 82 Question Id : 8643513952 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(2n

Let tana, tanp and tany ; o, B, v # —1}7, n € N be the slopes of three line segments OA,

OB and OC, respectively, where O is origin. If circumcentre of AABC coincides with origin

. E
. : . 3 e
and its orthocentre lies on y-axis, then the value of [ s B i ln 1 is equal to

L COS o COS 5 cos y J

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643513952 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

HMT 9 I@rEEl OA, OB @91 OC (O qaf9g §) F1 YU %H¥: tane, tanf TT tany

(u‘,[ﬂ,*yiw,ne N) %1 3f€ AABC &1 U= JeIfdg & T SHe o ah= y-319 W e, d

32

| A WA |

{cns 3o + cos3p + cos Iy
Cos o CoS 3 Cos vy ),

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513953 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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If 1, log,,(4*—2) and Ingm{-—i o ;W are in arithmetic progression for a real number x, then

the value of the determinant is equal to:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643513953 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Afe s ATEfeE @A x % Y, 1, log, (4% 2) 94 Iogm(él' ;W UF TR g9t H €, o anfoe

P3| =
S —
=
i
=
(£

2( x
b
1 0
X 1 0
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643513954 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider a set of 3n numbers having variance 4. In this set, the mean of first 2n numbers is
6 and the mean of the remaining n numbers is 3. A new set is constructed by adding 1 into
each of first 2Zn numbers, and subtracting 1 from each of the remaining n numbers. If the

variance of the new set is k, then 9k is equal to

Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 84 Question Id : 8643513954 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3n TENH 1 UF TY=Y T, TS0 TR0 4 ¥ 1 TH A= §, U9Y 2n TEAE] F 0 6 2 991 99 n
HEAHA W 3T 9YH 2n @A | U § 1 SIS & 991 99 n GEAE H godsd | 19 W UF
T4 T=E I T | AfE T WY=E S TE0 k S, o1 9k e § l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513955 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f: [-1, 1] — R be defined as f(x)=ax®+bx +c for all x e[ -1, 1], where a, b, c € R such

that f(—-1)=2, f'(—1)=1 and for x € (—1, 1) the maximum value of f"(x) is 7. If f(x) = «,

N |-

x € [—1, 1], then the least value of «is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643513955 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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AAIf:[-1,1] = R,

fx)=ax2+bx+c ¥ x e[-1,1], 3 b, c e R 5 TRAIfad &, w@f® f(—1)=2, f(-1)=1F @
xe 1,1]%1‘?{@{"@]%37?%%%%%?Tﬁ_r{xj-;:u,xg[ 1,1] %, a o =1 Fe=fag 9m

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513956 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the coefficients of third, fourth and fifth terms in the expansion of (1‘ [ —.J.,| .x7 0 be
\ x

in the ratio 12: 8: 3. Then the term independent of x in the expansion, is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643513956 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a\'n -, e W, = e m e . = ~ =
FT:H[I B | ,x:-n,aﬁmnﬁm,ﬁaawwwmwlz:a:zfﬁaﬁtnan%w ol 54
x )

".

TR HxAEEATRE
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

100

Question Number : 87 Question Id : 8643513957 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Letf:[—3,1] — R be given as

[ min {[1‘ I ﬁ],xEJ, G s N
f(x) =1 '

t:nm; {Jf,xz}, O=x=1.

If the area bounded by y=f(x) and x-axis is A, then the value of 6A is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643513957 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WA f:[-3,1] = R,

|rmin {[x + 6), xE}, F= =N
fx) =3 '

t:um; {\E, 1‘2}, O=x=1

BRI e T ® 1 AR y=f(x) T x-317 GRT TS &9 F1 GAFA A §, W 6A TR T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513958 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Let P be an arbitrary point having sum of the squares of the distances from the planes

x+y+z=0,lx—nz=0 and x—2y +z=0, equal to 9. If the locus of the point P is
x2+y? +22=9, then the value of [ —n is equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643513958 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A P U @ g § fowe awaet x +y+2=0, v —nz=0 M x — 2y + z=0 9 & F = =0
AR 9 71 Afg fag P 1 fague 12+ 12 +22=9 %, dl1—n &1 TF =R & |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643513959 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

— —

8 Fat e — M e Y
Let x be a vector in the plane containing vectors a=2i—j+k and b=i+2j-k. If the

vector x is perpendicular to |37 +2j—k/ and its projectionon a is , then the value of
2

v
_} s *
‘x| is ::-qual to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 89 Question Id : 8643513959 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o AfeR a=2i - j+k AW b=i+2] -k ¥ GHGA ¥ wH Wew x 1 A wEw o, "

A S = ._} =, . i \. 2 5

|37 +27 k| % orerea & qon g a wwag 17V6 ¥ & 2 = e e #

. ] x S
]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513960 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

| a | ' x] [0
Let A = [a ;} and B = [;} ,—{[J such that AB=B and a + d=2021, then the value of ad — bc
C O

is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643513960 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

a b i 0] . . .\
1=n=nf-1=[ 1] G t;:[;jz-m 2 forF folu AB=Bd=a+d=2021 T, 9 ad - bc &1 AF
C C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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